June 2022

Printed June 28, 2022 at 13:08



Stage 1 -- 1

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	140	49.74	2.8146	140.0000	100.00	2	Brownday, Mark
2	140	54.07	2.5892	128.7886	91.99	10	Nelson, Mick

June 2022

Printed June 28, 2022 at 13:08



Stage 1 -- 1

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C #	OMPETITOR Name
1	140	29.32	4.7749	140.0000	100.00	4	Hopley, Darren
2	140	44.64	3.1362	91.9534	65.68	6	Spooner, Wayne
3	140	46.15	3.0336	88.9447	63.53	11	Lydon, Mark
4	140	52.17	2.6835	78.6812	56.20	9	Donavon, Chris
5	125	47.02	2.6584	77.9456	55.68	5	Coglianese, Fausto
6	140	56.01	2.4996	73.2869	52.35	3	Rizzo, Vincenzo
7	140	62.07	2.2555	66.1318	47.24	7	Jones, Jason
8	140	71.83	1.9490	57.1460	40.82	1	Rizzo, Franco

June 2022

Printed June 28, 2022 at 13:08



Stage 1 -- 1

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	140	35.49	3.9448	140.0000	100.00	8	Meddins, Daryl
2	140	37.13	3.7705	133.8163	95.58	12	Davies, Martin

June 2022

Printed June 28, 2022 at 13:08



Stage 2 -- 2

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	14.96	2.6738	40.0000	100.00	2	Brownday, Mark
2	40	20.58	1.9436	29.0768	72.69	10	Nelson, Mick

June 2022

Printed June 28, 2022 at 13:08



Stage 2 -- 2

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	9.85	4.0609	40.0000	100.00	4	Hopley, Darren
2	40	11.99	3.3361	32.8607	82.15	1	Rizzo, Franco
3	40	18.77	2.1311	20.9909	52.48	7	Jones, Jason
4	40	22.45	1.7817	17.5501	43.88	9	Donavon, Chris
5	40	22.90	1.7467	17.2052	43.01	3	Rizzo, Vincenzo
6	40	23.19	1.7249	16.9901	42.48	5	Coglianese, Fausto
7	40	25.74	1.5540	15.3069	38.27	11	Lydon, Mark
8	40	27.79	1.4394	14.1778	35.44	6	Spooner, Wayne

June 2022

Printed June 28, 2022 at 13:08



Stage 2 -- 2

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	13.79	2.9007	40.0000	100.00	8	Meddins, Daryl
2	40	31.08	1.2870	17.7477	44.37	12	Davies, Martin

June 2022

Printed June 28, 2022 at 13:08



Stage 3 -- 3

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	13.49	2.9652	40.0000	100.00	2	Brownday, Mark
2	40	30.47	1.3128	17.7092	44.27	10	Nelson, Mick

June 2022

Printed June 28, 2022 at 13:08



Stage 3 -- 3

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	5.46	7.3260	40.0000	100.00	4	Hopley, Darren
2	40	8.00	5.0000	27.3000	68.25	5	Coglianese, Fausto
3	40	8.84	4.5249	24.7059	61.76	9	Donavon, Chris
4	40	12.00	3.3333	18.2000	45.50	6	Spooner, Wayne
5	40	12.78	3.1299	17.0892	42.72	7	Jones, Jason
6	40	15.56	2.5707	14.0360	35.09	11	Lydon, Mark
7	40	15.84	2.5253	13.7879	34.47	3	Rizzo, Vincenzo
8	25	16.86	1.4828	8.0961	20.24	1	Rizzo, Franco

June 2022

Printed June 28, 2022 at 13:08



Stage 3 -- 3

PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	OMPETITOR Name
1 40	8.37	4.7790	40.0000	100.00	Davies, Martin
2 40	13.51	2.9608	24.7816	61.95	Meddins, Daryl

June 2022

Printed June 28, 2022 at 13:08



Stage 4 -- 4

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	50	20.73	2.4120	50.0000	100.00	2	Brownday, Mark
2	50	25.79	1.9387	40.1900	80.38	10	Nelson, Mick

June 2022

Printed June 28, 2022 at 13:08



Stage 4 -- 4

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	50	14.86	3.3647	50.0000	100.00	4	Hopley, Darren
2	50	16.38	3.0525	45.3602	90.72	6	Spooner, Wayne
3	50	22.80	2.1930	32.5877	65.18	5	Coglianese, Fausto
4	50	25.55	1.9569	29.0802	58.16	3	Rizzo, Vincenzo
5	50	26.20	1.9084	28.3588	56.72	11	Lydon, Mark
6	50	32.27	1.5494	23.0245	46.05	7	Jones, Jason
7	50	42.33	1.1812	17.5526	35.11	1	Rizzo, Franco
8	50	48.15	1.0384	15.4309	30.86	9	Donavon, Chris

June 2022

Printed June 28, 2022 at 13:08



Stage 4 -- 4

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	50	18.21	2.7457	50.0000	100.00	12	Davies, Martin
2	50	37.87	1.3203	24.0428	48.09	8	Meddins, Daryl

June 2022

Printed June 28, 2022 at 13:08



Stage 5 -- 5

PTS		TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	37.18	3.2275	120.0000	100.00	10	Nelson, Mick
2	120	46.60	2.5751	95.7425	79.79	2	Brownday, Mark

June 2022

Printed June 28, 2022 at 13:08



Stage 5 -- 5

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	120	24.40	4.9180	120.0000	100.00	4	Hopley, Darren
2	120	39.34	3.0503	74.4281	62.02	9	Donavon, Chris
3	120	43.01	2.7900	68.0772	56.73	5	Coglianese, Fausto
4	120	48.00	2.5000	61.0000	50.83	1	Rizzo, Franco
5	120	48.61	2.4686	60.2345	50.20	11	Lydon, Mark
6	120	50.08	2.3962	58.4665	48.72	6	Spooner, Wayne
7	120	52.05	2.3055	56.2536	46.88	7	Jones, Jason
8	120	56.23	2.1341	52.0718	43.39	3	Rizzo, Vincenzo

June 2022

Printed June 28, 2022 at 13:08



Stage 5 -- 5

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	36.73	3.2671	120.0000	100.00	12	Davies, Martin
2	120	42.86	2.7998	102.8371	85.70	8	Meddins, Daryl

June 2022

Printed June 28, 2022 at 13:08



Stage 6 -- 6

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	6.58	6.0790	40.0000	100.00	10	Nelson, Mick
2	40	8.79	4.5506	29.9431	74.86	2	Brownday, Mark

June 2022

Printed June 28, 2022 at 13:08



Stage 6 -- 6

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	5.54	7.2202	40.0000	100.00	1	Rizzo, Franco
2	40	5.62	7.1174	39.4306	98.58	7	Jones, Jason
3	40	5.82	6.8729	38.0756	95.19	11	Lydon, Mark
4	40	7.38	5.4201	30.0271	75.07	5	Coglianese, Fausto
5	40	9.50	4.2105	23.3263	58.32	9	Donavon, Chris
6	40	10.93	3.6597	20.2745	50.69	3	Rizzo, Vincenzo
7	40	16.17	2.4737	13.7044	34.26	6	Spooner, Wayne
8	0	3.74	0.0000	0.0000	0.00	4	Hopley, Darren

June 2022

Printed June 28, 2022 at 13:08



Stage 6 -- 6

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	5.85	6.8376	40.0000	100.00	12	Davies, Martin
2	40	7.26	5.5096	32.2314	80.58	8	Meddins, Daryl

June 2022

Printed June 28, 2022 at 13:08



Stage 7 -- 7

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	12.00	3.7500	45.0000	100.00	10	Nelson, Mick
2	45	26.37	1.7065	20.4778	45.51	2	Brownday, Mark

June 2022

Printed June 28, 2022 at 13:08



Stage 7 -- 7

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	11.16	4.0323	45.0000	100.00	4	Hopley, Darren
2	45	14.67	3.0675	34.2331	76.07	5	Coglianese, Fausto
3	45	15.88	2.8338	31.6247	70.28	1	Rizzo, Franco
4	45	16.92	2.6596	29.6809	65.96	6	Spooner, Wayne
5	45	19.20	2.3438	26.1563	58.13	11	Lydon, Mark
6	45	20.17	2.2310	24.8984	55.33	7	Jones, Jason
7	45	22.46	2.0036	22.3598	49.69	3	Rizzo, Vincenzo
8	45	24.60	1.8293	20.4146	45.37	9	Donavon, Chris

June 2022

Printed June 28, 2022 at 13:08



Stage 7 -- 7

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	15.09	2.9821	45.0000	100.00	8	Meddins, Daryl
2	45	15.59	2.8865	43.5568	96.79	12	Davies, Martin

June 2022

Printed June 28, 2022 at 13:08



Stage 8 -- 8

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	95	44.08	2.1552	110.0000	100.00	2	Brownday, Mark
2	110	54.42	2.0213	103.1680	93.79	10	Nelson, Mick

June 2022

Printed June 28, 2022 at 13:08



Stage 8 -- 8

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	110	22.08	4.9819	110.0000	100.00	4	Hopley, Darren
2	110	35.89	3.0649	67.6734	61.52	6	Spooner, Wayne
3	110	39.08	2.8147	62.1494	56.50	9	Donavon, Chris
4	110	40.94	2.6869	59.3258	53.93	5	Coglianese, Fausto
5	110	47.03	2.3389	51.6436	46.95	1	Rizzo, Franco
6	110	49.05	2.2426	49.5168	45.02	7	Jones, Jason
7	110	56.16	1.9587	43.2479	39.32	3	Rizzo, Vincenzo
8	110	82.03	1.3410	29.6087	26.92	11	Lydon, Mark

June 2022

Printed June 28, 2022 at 13:08



Stage 8 -- 8

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	110	32.66	3.3680	110.0000	100.00	8	Meddins, Daryl
2	110	34.56	3.1829	103.9525	94.50	12	Davies, Martin